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And she vows and prohibits herself from fruits of the world that she
did not receive from her 172103, etc.

OVERVIEW

The X713 relates an incident where a woman took a vow that the fruits of the world
should be forbidden to her if she received for her 772102 more than she declared. In
"9 the text reads that she forbade o»waw m%s “35. However mpoin disagrees
with this X07°3 and maintains that the correct X073 is 22Wwaw Mo (without 93). The
discussion revolves whether a 771 which is impossible to keep is a valid 771.

— 217959 59 199093 XY
The text does not read n11°s %> (all the fruits); meaning that she is taking a vow which
is impossible to keep. The reason that we are not 'm17° ' 0713, is not because it is impossible to

keep (and therefore it is not a valid 771) -
— 0PV D19 1INV 937 DY GN DN 9137 2) DY GNT

For even though a vow [971] is effective even regarding something which he
cannot fulfill, (so the 773 of M7 %3 is valid); Moo proves that a 771 is 71 even if itis a 27
7P N7 WRY -
— 1WA 29 >03YP 23 (x0 41 DIITIT IV P92 ININTI
As the mwn states” in the second 779 of 2771 noon regarding one who says ap
my eyes from sleeping -
— 915 93 990N YaPT 1Y 1Y 1PV M NINYINY KNYY 297 XY IN) 70997
Where the X723 asks, ‘and if he does not place a limit to his vow (for how long
he will not sleep) will we let him be until he transgresses the prohibition of %2
bre?!
— *an5NY W INMN 1299 D30 /) JYIN NOY NIAY 1IN’ %29 9N XM

" mnn At
* The reason will be explained later in this mooIn. See footnote # 15.
? The word anp is understood to mean as if one said, ‘(things) should be forbidden to me as a 1279 (is forbidden) if I
... (do this thing)’.
491 o
> The 70 states (3,2 [Mun] 72713) that 1127 51 K2 13 771 17 % WK,
6 A person cannot go three days without sleep, therefore when he makes an oath that he will not sleep for three days
it is considered a X ny1aw (an oath in vain) since he cannot fulfill it. 7"2 administers M%7 to this person since he
transgressed the prohibition of a X1 nyaw and he may go to sleep immediately. This indicates that a (7¥12® or a) 771
which one cannot fulfill is effective, for we administer lashes for transgressing the W of 1127 %> &>, [Afterwards
(once he received mpon) however, there is no prohibition for sleeping.]
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But 3111 '3 ruled, if one took an oath that I will not sleep for three days, we
administer lashes to him and he may go to sleep immediately.’

Mmoo anticipates a difficulty with the concept that a 771 which cannot be fulfilled is nevertheless
effective:
— (2,197 D913 /) 7992 99N712 971 YNXAN 99131 N

And that which the 71wn states in the third P99 of 29971 ndon that exaggerated
vows are permitted —

mooIn responds:
— O”PY 9199 19NY 1193 1LY TONT DIVN IND

It is not permitted because he forbade himself in something which he cannot
fulfill -

—%Hy OYIYAY MI9N Y3 ITON 9INT 1D

For instance that he said, ‘all the fruits of the world should be forbidden to me

- gan 3 79199 wN 29983 nMa Y1) 1IN NY BN

if I did not see a camel flying in the air, or a snake similar to the beam of an
olive press’ -

— 72N %2 NP VNN R DN YNNI INYT PRY 299 NON

But rather (the reason they are 70 is) since his intention is not to say an actual

camel and not actually like an olive press beam -
— 129 %2 HNP RIP DIYNI INYN NIYNY NN 1252 §)90 XINY N1 NON

But rather a snake that has many cracks in his back and is different from

other snakes; he refers to this snake that it is like an olive press beam -
— 9813 S9IY NP NNIY NI Y1) M)

And when he says a very large army he refers to it as an amount equal to those

that went up from 23922 (i.e. six-hundred thousand people) -
— 15927 DINAY NN 19 TN 1IN

7 Therefore we cannot say the reason we are not 'n11°® 92' 071 is because since it is impossible to fulfill, therefore it
is not a 171, for we see from the previous X773 that even a 771 which is impossible to fulfill is considered a 771 and
one is punished for transgressing it. We therefore must find another reason why we are not 'm0 %3' o7,
8 The mwn in 3,5 0’771 states K27 771 121 22100 17°N7 07171 AYAIR, and in a later (2,72) n1wn it explains what is "7
X377, stating; 737 N°2 NPI W1 0K X7 DK 0°%7 29 17 172 20K R? DX O IR OR32T 0T
? Seemingly the reason X277 *173 are permitted is since it is impossible to fulfill, therefore we say that it was never 2.
This seems to contradict what Moo previously said that a 971 is 21 even by something which is 0P WX °X.
' The X"wnn states that this phrase 1"Xa 719 213 is not appropriate here.
"It may seem that the reason it is not 51 is because since he obviously did not see what he said he did, and as a
result he will be 023w mM°077 932 MoK, which he cannot live with, therefore it is not 5r1. This seemingly proves that
a 0ph X"RW 171 is not effective. Moo rejects this.
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And he is not saying these things seriously; but only to maintain what he says
that he saw something unusual and he is exaggerating to impress the truth of what he saw.'

noon differentiates between X277 °7171 and X257 NIYAW:
- NPy NY 1311:1 22527 OIVN INNNT 1229919 9ION NN MMV NP

And it is only specifically regarding 8277 my1aw which are 322972 90K , for the
1127 were stricter by 712w than by 171, because by 712w it is written 7130 X% ("7

will not cleanse the sin of xw nyaw) -
— 9732 Y9 N9 1N 1YY YON NIN /19290 93 99N XY 1929N) INAN »97) JaN

However regarding "2 9171, and even where he did not say all the n19°» should
be Mox for me (which is 2>°p% X"X) but rather he forbade upon himself one fruit
(which he can be 0pn), nevertheless it will be permitted by X277 3971 -

— N9 1N 1°2) M9 93 192 PN PN)
And there is no difference between all fruits or one fruit.

In summation: Mo0N explains that *X2;7 °371 are MK, not because it is 2pP7 R"X (for a 771 even if
it is 0»pY R"X is a valid 773), but rather since it is assumed that he did not mean literally what he
said (he was merely exaggerating).

Seemingly we can be 'n7°5 92" 07, since the 771 is %11 even if it was for a 0»p% R"Rw 127 -
— 999 U5 192049 XY XON 0PN Yon

Nevertheless here we are not 'n1% %3' 8733, npon explains -
— NN NY2P ONX YN Y23 INYNY NPV 29 by XY

For even though she immediately transgresses the »r> %2 if she did receive

payment from her 73103, so seemingly this should be a deterrent, nevertheless -
— 91YNRY 1U NN 1291 N1 NIDMM RY 799N DURT 119

Since that from that point (when she is 1° 22 121 immediately) onward she is
not forbidden in M7 5> as the X713 stated that we administer lashes and he

may go to sleep immediately, therefore -
— Y1003 waan7a 195 53 MOIND NTIY NN BININ CRUWIN NN

"2 In any event the reason why these *X271 *171 are ineffective is not because he was 2»p% X"Xw 7n 771, but rather he
did not mean what he saying to be taken literally.
" The 7790 (in 1,5 [N°] Maw) writes: X)W 9y DY X WK DX 7 00 K2 3 )@Y TROR 7 OW DR XD XY,
' See footnote # 6.
15 Therefore 7" will not accept her vow, for she is not concerned for a one time Mo°X. However if she is 7> on
something which is 0»p% waR (such as one »d), then since she is forever forbidden to have this >5. This is
considered a sufficient deterrent.
' The w"w" amends this to WIOKRTD.
17 See on the 8 7"7 'o10 2 T,
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She is not concerned by making this vow (untruthfully), since she will not
remain with this prohibition forever as n1901n explains shortly.

nooIn asks:
— 9INRT N92) RN MNRT (3,09 97 ©YITYT R9N2 P92 Bannn ON)

And if you will say; in the last 99 of 25971 noon where the X723 states, ‘there

was this person who said -
— 212 NN2YN NN NIT 1Y NNNON NI2P0) ON 2D NabyT MNIN 905N

‘if I marry a woman before I study the laws, etc. then all pleasures of the

world should be forbidden to me’ -
— 090 11 137> XOY 275 RV NYPIY) PRNIMN 720INY NPYAYI XNN 39 RON)

And RnX 29 came and fooled him and had him marry a woman and smeared

lime over him in order he should not benefit from the world. This concludes the

citation from the X973. Md01N concludes his question -
- 211:”‘,75 9102 9199 PRY 1193 92 191 NXAVIN 937 N¥PIVT INN DIV NN

What did smearing his face accomplish, for as soon as he married he
immediately transgressed the 71> 92, since he cannot ultimately keep his vow?!

N1B0IN answers:
— Zanhng 9299 095 19 FWON SN BN 1Y NYWA RPITT 915 U

And one can say; he transgresses > X7 immediately only if at the time of the

171, he cannot keep it -
— NV N9V 19 YWANT 0PY 9195 150 97V Hywa onn YaN

However there (by XnX 17), when he made the 971 it was possible for him to
keep it, for it is possible that he should not marry a woman, therefore -

$NINOY TY INDNRD 921Y 1N 0PV D159 PR NAVIN 197 2) UY 9N
Even though once he married he cannot keep the 773, nevertheless he does not
transgress the W% of 5r°> 2 until he actually benefits.

SUMMARY
A 171 which one cannot fulfill is a valid 771 to the extent that he receives mpbn for

' See “Thinking it over’.
' XX 27 wanted to bring this person to X701 27 in order to repeal his vow. However it was necessary that the vow
take effect before it can be repealed, w"»y.
% He could not even wear clothes for he is deriving benefit from the aw.
*! moon taught us previously that if one makes a 771 which is 0P X"X he immediately transgresses the W% of 2> X5.
22 This would have the case here had she said 093w n17°0 93 or in the case of WX X9w.
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o 92, However he is immediately permitted in what he forbade himself. *X277 *171
are permitted because he is exaggerating (however *X277 my12w are prohibited, since
the 77N writes P XY, the D01 were T nn). 7"2 will not accept a 0»p? K"XW 72
as an assurance (since people are not that concerned of transgressing a one time
MO°X); they are concerned for a continuing prohibition.

THINKING IT OVER

1. mpoIn asks regarding the conduct of 81X 27 that the X1°v2 7°PW was of no avail
since he was 7% 121. Seemingly this question is not relevant to our discussion;
mooin should have asked that question in 0771 but not here!”

2. Can we distinguish between the 171 of WX X?w (where 71 7w MR 1°P%1) and
the 771 of "31°9¥ PMOR 17> 2 waw N0 937 In the case of WX X9 he must fall
asleep (within three days), therefore 7 1w MMR P97, however concerning 93
O?waw N0 it is not inevitable that he must eat, he can die of hunger and still keep
the 721>

2 See TR X"wAn and w"wA.
* See 1"nX # 154.
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